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W3 PY N7 9w KT N7 737 XR997Y — And perhaps only a nmn
is not required to be on a '7 21P»n (according to ¥"7), however an
7I9PY requires a '7 21PN,

Overview

The %713 asked: Even though we see that ¥"1 does not require a "7 22n, from
the fact that he holds "7 nnnw "n> 7VPP, however it may be that he does
not require a "7 2p» for 7117, but he does require a '7 21p» for 7Py .

The question arises: why should there be any difference between 7117 and
77°py? Since we see that ¥"1 holds that 7m17 does not require a '7 2P, why
should 77°py be different? Did the X723 note anything in the words of ¥"
that would cause this difference?

""w1 and mdon take different approaches to the s'8 3 question N> RnP7Y.
»"w1 learns that from s'v" words we can deduce that ¥"9 holds, that 7Py is
different from 7m7, while Mdon learns that inherently (without s'v"9
statement) 77°pY is different from 1ma7.

"2 29977 R P77 Y"'wn wymse —v"'wn explains that the X712 1s P97 that ¥
would require a '7 2pn by 77°pY, for since v is not 2917 the P77 for two
QMO

0I5 QMR NARY INXT 2R NN — one for XX and one for 710127, since
¥"1 holds %P, so when the object went from the "7 to the 2"7771 "X, there was a nXxI,
and when it continued from the 2";737 998 to the °"'1317 there was a 10137, so if ¥ holds that
a '7 0Pn is not required neither by 7M1 nor 7Py there should be two 2°211. However
since it says 2°°1 ¥"1 but not °nw 2°°1n, that means he is only 211 for one 79897, namely
X%, for we have a 1man for the XX but no 77°py for the 7101073, The reason the 7mi7 is
valid, is because it does not require a '7 2P, an 77°pY however does require a '7 23p», and
since there is no "7 2171 he is not 211 for the 710157. This according to *"w proves that

while a 7117 does not require a "7 23P», an 77°PY however does require a "7 01Pn, and
therefore he is 217 only once for R¥.

'2 29 K97 R X297 awm — And there is a difficulty with this deduction,
for perhaps the reason that he is not 291 for two mox7 is not because there is

no 7101571, since an 77PY requires a '7 2P, it is possible that an 777°pY also does not require
a '7 0171, and the reason why he is not 217 for 70137 also, is because

AR 21712 7T9INR 200 89T — for there is a rule that one is not 211 (a 12p)

on a 7717710 when he does it together with the 2K and since 70157 is a 77910 of
XX, we cannot be 21 him for 701277 when he is already 217 for XX,
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SIS 20 MKRP TIMe2T T — and furthermore’ there is another difficulty
with this vws, for 77171° 29 will say, shortly

"2 529 ;797 297 — that 529 was 212 a YXnRa "I "% 2" P, for
two n1oRY, for 70137 and ZIR¥YT

2577 939 2nd %InpT 23 %Y O — even though in the Xn»91 it stated simply

that 529 was 21, not specifying how many o211, nevertheless 777 21 understood
it, to mean two, so therefore

2ONw 29772 K97 19 X1 p''9% 1 X077 — here too concerning ¥''2, how can we

be sure that he does not mean two?
The question remains, why did the X913 think that there should be a difference between
7137 and 7°PY? N1DOIN answers:

was® 7871 - And it appears to n1901n, that the explanation

w2 TPY KT 7987 — of the s'X 13 question: that perhaps an 79y requires
a '7 01pn, as opposed to M, is

1ownn 119597 — that since we learn out X277 nox®» from the own»

YR DY PN J72 1R 3naonn POu v — where they would take the

articles which they donated from their closets which were 4 o150 by 4
o°nav, the required space for an 7Py

7oRY2T w79 Pimn — and would then give it into the hands of the

workmen which is not 4 by 4. So there is good reason to distinguish between 7Py and
7317 for that is the way it was in the 1own. There was a '7 23p» by the 77°p¥ and not by the
anaa.

Yoy’ snwsw 7% 9291 — and according to what I explained previously®
MIPRR WOR KX XM w977 — that we learn out (7X¥17 noxY» and) the
requirement for a '7 0P, from the MIpRn WIR XX YR 109, that no man shall
take an object out of its place

SR TPYAT W onl SR — it is also well understood the distinction

between 7MIM 77°PY, since this P10 is concerning 519%pY, for that P09 is telling
us that we cannot remove an object from ifs place (to another M), so we are talking
about the 77°py, when we say ‘from its place’ thereby requiring a place of "1 v 7 for
7Py, but not necessarily for 7M.

Summary:
There are three ways to explain why the X723 assumes that even though a

7117 does not require a '7 @R, according to ¥'"7, nevertheless an 77°PY may
require a '7 2IPn.

" Even if we were to say that y71 holds that a ax ©Ypn2a NT9IN is 27N, see 2,38 Nav or we would find a case
where he is A8 DYPNA NTINK 29N, see NI 17T 2,38 7O,

? See #1.

3 See N 17T R, T OO [2AN] MINOY 77T R, 210N
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*"w1 learns that we deduce it from the wording of ¥"9, since he did not say
o»nw 21 that proves that he is 217 only for the X% but not for the 7017,
because there was no '7 D3pnn 7PY.

mooin refutes this proof, and says that: 1) the reason that he is not 2°nw 21
is because a8 DpPn2 777INX 211 X27 and has nothing to do with a "7 3pn, or
2) ¥"1 really meant 2 nw 2°17.

mooIn offers two explanations, why 717°p¥ should be different from 1.
Either because in the 1Dwn there was a "7 2p»n by 77°P¥ and not by 1n37, or
alternatively the 109 requires a "7 2P only by 77°pY and not by 3.

Thinking it over

1. Does not the phrase “n7 /7772 "2 n17p’, itself suggests that this applies
mainly to 7737 and not 77°P¥? Why don’t we use this as proof?

2. How do *"wn and m»oin differ in understanding the X317 7737 X227 ,X0WP
WA 7Py R Ova X772 According to whom is the word ‘®n%°7Y more
appropriate?

3. How can we relate their differences in this m9on, to the way they learn
the X2°91'7 210 °23 Hyn amIm TPV 7992 KM LR

4. How will ¥"1 hold regarding a need for a "7 031 according to the X1p0n?

5. According to '01n, who explains that there is a difference between 77°py
and 71317, why did the X7n3 assume originally that both 77°py and 77
require a '7 21Pn?

6. According to °"w1, why did ¥"1 differentiate between 7Py and 7n37?
Why didn’t >"wA use that reason, in the manner that M50 does?




